

Transfers Report

This report contains the transfers results.

Contest Name	Inverness West
Valid Votes	3,503
Positions to be Filled	3
Quota	876

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Bill BOYD	Scottish National Party (SNP)	1,092
Ryan FORBES	Scottish Conservative and Unionist	327
Iain FORSYTH	Independence for Scotland Party	46
Shaun Alexander FRASER	Scottish Labour Party	295
Alex GRAHAM	Liberal Democrat Focus Team	1,198
Ryan MACKINTOSH	Scottish Greens - Delivering for Our Community	262
Duncan MCDONALD	Independent	173
David SANSUM	Independent	10
Helen SMITH	Independent	100
Total		3,503

Candidate Bill BOYD Elected with 1,092 votes, being in excess of the quota of 876

Candidate Alex GRAHAM Elected with 1,198 votes, being in excess of the quota of 876

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Alex GRAHAM

322.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan FORBES	191	0.26878	51.33698
Transfer to Iain FORSYTH	36	0.26878	9.67608
Transfer to Shaun Alexander FRASER	246	0.26878	66.11988
Transfer to Ryan MACKINTOSH	139	0.26878	37.36042
Transfer to Duncan MCDONALD	200	0.26878	53.75600
Transfer to David SANSUM	19	0.26878	5.10682
Transfer to Helen SMITH	78	0.26878	20.96484
No further preference	289	0.26878	77.67742
Not transferred due to rounding			0.00156
	Total		322.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Bill BOYD

216.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan FORBES	24	0.19780	4.74720
Transfer to Iain FORSYTH	204	0.19780	40.35120
Transfer to Shaun Alexander FRASER	142	0.19780	28.08760
Transfer to Ryan MACKINTOSH	416	0.19780	82.28480
Transfer to Duncan MCDONALD	45	0.19780	8.90100
Transfer to David SANSUM	10	0.19780	1.97800
Transfer to Helen SMITH	30	0.19780	5.93400
No further preference	221	0.19780	43.71380
Not transferred due to rounding			0.00240
	Total		216.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of David SANSUM

17.08482

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan FORBES	1	1.00000	1.00000
Transfer to Iain FORSYTH	1	1.00000	1.00000
Transfer to Ryan MACKINTOSH	3	1.00000	3.00000
Transfer to Duncan MCDONALD	1	1.00000	1.00000
Transfer to Helen SMITH	2	1.00000	2.00000
Transfer to Ryan FORBES	3	0.26878	0.80634
Transfer to Iain FORSYTH	1	0.26878	0.26878
Transfer to Ryan MACKINTOSH	1	0.26878	0.26878
Transfer to Duncan MCDONALD	1	0.26878	0.26878
Transfer to Helen SMITH	6	0.26878	1.61268
Transfer to Ryan MACKINTOSH	2	0.19780	0.39560
No further preference	2	1.00000	2.00000
No further preference	7	0.26878	1.88146
No further preference	7	0.19780	1.38460
Not transferred due to rounding			0.00000
	Total		17.08482

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Iain FORSYTH

97.29606

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan FORBES	4	1.00000	4.00000
Transfer to Shaun Alexander FRASER	7	1.00000	7.00000
Transfer to Ryan MACKINTOSH	10	1.00000	10.00000
Transfer to Duncan MCDONALD	7	1.00000	7.00000
Transfer to Helen SMITH	5	1.00000	5.00000
Transfer to Ryan FORBES	1	0.26878	0.26878
Transfer to Shaun Alexander FRASER	11	0.26878	2.95658
Transfer to Ryan MACKINTOSH	4	0.26878	1.07512
Transfer to Duncan MCDONALD	5	0.26878	1.34390
Transfer to Ryan FORBES	6	0.19780	1.18680
Transfer to Shaun Alexander FRASER	13	0.19780	2.57140
Transfer to Ryan MACKINTOSH	99	0.19780	19.58220
Transfer to Duncan MCDONALD	13	0.19780	2.57140
Transfer to Helen SMITH	10	0.19780	1.97800
No further preference	14	1.00000	14.00000
No further preference	16	0.26878	4.30048
No further preference	63	0.19780	12.46140
Not transferred due to rounding			0.00000
	Total		97.29606

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Helen SMITH

137.48952

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan FORBES	11	1.00000	11.00000
Transfer to Shaun Alexander FRASER	4	1.00000	4.00000
Transfer to Ryan MACKINTOSH	27	1.00000	27.00000
Transfer to Duncan MCDONALD	31	1.00000	31.00000
Transfer to Ryan FORBES	8	0.26878	2.15024
Transfer to Shaun Alexander FRASER	13	0.26878	3.49414
Transfer to Ryan MACKINTOSH	8	0.26878	2.15024
Transfer to Duncan MCDONALD	24	0.26878	6.45072
Transfer to Shaun Alexander FRASER	1	0.19780	0.19780
Transfer to Ryan MACKINTOSH	15	0.19780	2.96700
Transfer to Duncan MCDONALD	5	0.19780	0.98900
No further preference	34	1.00000	34.00000
No further preference	31	0.26878	8.33218
No further preference	19	0.19780	3.75820
Not transferred due to rounding			0.00000
	Total		137.48952

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Duncan MCDONALD

286.28080

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan FORBES	41	1.00000	41.00000
Transfer to Shaun Alexander FRASER	30	1.00000	30.00000
Transfer to Ryan MACKINTOSH	26	1.00000	26.00000
Transfer to Ryan FORBES	35	0.26878	9.40730
Transfer to Shaun Alexander FRASER	47	0.26878	12.63266
Transfer to Ryan MACKINTOSH	21	0.26878	5.64438
Transfer to Ryan FORBES	1	0.19780	0.19780
Transfer to Shaun Alexander FRASER	8	0.19780	1.58240
Transfer to Ryan MACKINTOSH	18	0.19780	3.56040
No further preference	115	1.00000	115.00000
No further preference	127	0.26878	34.13506
No further preference	36	0.19780	7.12080
Not transferred due to rounding			0.00000
	Total		286.28080

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Shaun Alexander FRASER

453.84026

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan FORBES	58	1.00000	58.00000
Transfer to Ryan MACKINTOSH	90	1.00000	90.00000
Transfer to Ryan FORBES	84	0.26878	22.57752
Transfer to Ryan MACKINTOSH	48	0.26878	12.90144
Transfer to Ryan FORBES	20	0.19780	3.95600
Transfer to Ryan MACKINTOSH	56	0.19780	11.07680
No further preference	188	1.00000	188.00000
No further preference	185	0.26878	49.72430
No further preference	89	0.19780	17.60420
Not transferred due to rounding			0.00000
	Total		453.84026

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of Ryan FORBES

538.63496

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ryan MACKINTOSH	71	1.00000	71.00000
Transfer to Ryan MACKINTOSH	64	0.26878	17.20192
Transfer to Ryan MACKINTOSH	25	0.19780	4.94500
No further preference	371	1.00000	371.00000
No further preference	258	0.26878	69.34524
No further preference	26	0.19780	5.14280
Not transferred due to rounding			0.00000
	Total		538.63496